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IV Semester 3 Year LL.B./ VIl Semester 5 Year B.A. LL.B./B.B.A. LL.B.
Examination, June/July 2017
Opt. — Il : BANKING LAW

Duration : 3 Hours Max. Marks : 100

Instructions: 1. Answer Q. No.9 and any five of the remaining questions.

2. Q. No. 9 carries 20 marks and the remaining questions
carry 16 marks each.

. Answers should be written either in English or Kannada
completely.
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Explain the functions of Commercial Bank. Marks : 16
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Explain the functions of Reserve Bank of India and discuss its

supervisory role. Marks : 16
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Explain the general principles relating to secured loan. Marks : 16~
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Define ‘Cheque’. How it differs from a promissory note ? Marks : 16
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. Who is customer of a bank ? Explain the relationship between
Banker and Customer. Marks : 16
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. Explain the various trends of E-banking services. Marks : 16
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. Discuss powers and functions of Banking Ombudsman. Marks : 16
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. Write short note on any two of the following : Marks : 2x8=16
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(a) Agency services
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(b) Protection to Paying Banker
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(c) Credit card.
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Solve any two of the following problems : Marks : 2x10=20
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(a) One Mr. Venkat has a current account in the Vijaya Bank.
A cheque for Rs. 50,000 was issued by him in favour of his
minor son, Ramesh is presented for the payment at the
counter of the bank. Can the banker pay the amount to the
minor son of the drawer ? Decide.

e 2303L3033 IR 3, T3 O aa‘aéod;da TROQTIZT.
wdcb @50 R woms ] ddsea’d a’r’obaﬂo drn. 50, OOO
o) ae@doz_gd SboeBs> & ) moﬁd@?ﬁ TOREMN
WRROBVY. [oFWO BT WODRT  FONAN WR,080° JED
BRBWIRTC ? AFFOR.




0 R O 3

(b) A customer has a credit balance of Rs. 2,080 in his current
account. Three cheques of Rs. 1,000, Rs. 500 and Rs. 1,200
are simultaneously presented for payment. As a banker how
will you act in this situation ? Decide.
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(c) A fixed deposit receipt marked as “not transferable”. But it
was transfered by the depositor to another person ? Decide
its validity.

Qo0 BeSed TWIWD. “BroRLT08e) " oI SRULDRCONT,
BeIed00 88 cSemé déddo 3ed ﬁﬁ BOFCWRLIVE. w3
5532.)533033?&3 P OR.




